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Cuadro 2 (continuación 6)/Table 2 (continued 6)
 Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.016 0.016  100 000  1 616  98 609 0.983 b 7 173 480 71.7
1 4 0.001 0.003  98 384   254  392 902 0.998 c 7 074 871 71.9
5 5 0.000 0.001  98 131   146  490 287 0.998 6 681 969 68.1

10 5 0.000 0.002  97 984   160  489 522 0.997 6 191 683 63.2
15 5 0.001 0.003  97 825   342  488 268 0.995 5 702 160 58.3
20 5 0.001 0.006  97 483   623  485 855 0.993 5 213 892 53.5
25 5 0.002 0.008  96 859   766  482 382 0.992 4 728 037 48.8
30 5 0.002 0.009  96 093   850  478 343 0.990 4 245 655 44.2
35 5 0.002 0.011  95 244  1 062  473 562 0.986 3 767 312 39.6
40 5 0.003 0.016  94 181  1 509  467 135 0.980 3 293 750 35.0
45 5 0.005 0.024  92 673  2 259  457 716 0.969 2 826 615 30.5
50 5 0.008 0.038  90 414  3 408  443 549 0.952 2 368 899 26.2
55 5 0.012 0.058  87 006  5 070  422 356 0.927 1 925 351 22.1
60 5 0.019 0.090  81 936  7 341  391 330 0.888 1 502 995 18.3
65 5 0.029 0.136  74 596  10 168  347 560 0.832 1 111 665 14.9
70 5 0.045 0.204  64 428  13 138  289 295 0.755  764 105 11.9
75 5 0.070 0.298  51 290  15 264  218 290 0.652  474 810 9.3
80 5 0.106 0.419  36 026  15 098  142 384 0.528  256 520 7.1
85 5 0.160 0.562  20 928  11 768  75 218 0.393  114 136 5.5
90 5 0.236 0.710  9 160  6 504  29 539 0.270  38 917 4.2
95 5 0.302 0.799  2 656  2 122  7 975 0.150 d  9 378 3.5

100 ω 0.381 1.000   534   534  1 403  1 403 2.6
Mujeres/Females

0 1 0.012 0.012  100 000  1 206  98 947 0.987 b 7 941 053 79.4
1 4 0.001 0.002  98 794   220  394 614 0.998 c 7 842 107 79.4
5 5 0.000 0.001  98 574   107  492 601 0.999 7 447 492 75.6

10 5 0.000 0.001  98 467   109  492 060 0.999 6 954 891 70.6
15 5 0.000 0.002  98 357   152  491 408 0.998 6 462 831 65.7
20 5 0.000 0.002  98 206   216  490 489 0.997 5 971 422 60.8
25 5 0.001 0.003  97 990   301  489 196 0.996 5 480 933 55.9
30 5 0.001 0.004  97 688   414  487 407 0.995 4 991 737 51.1
35 5 0.001 0.006  97 274   568  484 952 0.993 4 504 330 46.3
40 5 0.002 0.008  96 706   796  481 541 0.990 4 019 378 41.6
45 5 0.002 0.012  95 910  1 144  476 690 0.985 3 537 837 36.9
50 5 0.004 0.018  94 766  1 689  469 606 0.977 3 061 147 32.3
55 5 0.006 0.027  93 076  2 550  459 006 0.965 2 591 541 27.8
60 5 0.009 0.043  90 526  3 902  442 876 0.944 2 132 535 23.6
65 5 0.014 0.069  86 624  5 952  418 240 0.911 1 689 659 19.5
70 5 0.023 0.110  80 672  8 874  381 174 0.859 1 271 419 15.8
75 5 0.038 0.175  71 798  12 548  327 618 0.781  890 245 12.4
80 5 0.063 0.272  59 249  16 095  256 009 0.672  562 626 9.5
85 5 0.102 0.406  43 154  17 512  171 992 0.533  306 617 7.1
90 5 0.164 0.570  25 643  14 624  91 652 0.378  134 625 5.3
95 5 0.258 0.742  11 018  8 178  34 648 0.194 d  42 973 3.9

100 ω 0.341 1.000  2 841  2 841  8 325  8 325 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


